ARBETSBLAD 39 MATEMATIK €9

Multiplikation och division
1 a) 65-10= b) 10034 =
2 a) 23-100= b) 10-125=
24
s 22
10 100
800 42 000
bayTr=——— b) 000 =
5 a) 6-40= b) 5003 =
6 a) 20-20= b) 40-60 =
7 o160 _ by 200 _
20 50
400 4000
ga) ot ———— ®) Tooo =
9 a) 30-70= b) 80-200 =
10 a) 9-600 = b) 600 -20 =
1 ) S0 by 22 -
100 60
2
12 @) 3200 by 7000 _
400 — 700
13 a) 100-20 = b) 4-900 =
14 a) 60-70 = b) 900 -20 =
4 72000
15 a) 2500 _ b) 2220 _
80 100
7000 80000
16 a) 0 =_ b) 4000 =
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ARBETSBLAD 39 MATEMATIK €9

Multiplikation och division

1 a)650 11 a)60
b) 3400 b)6

2 a)2300 12 a)8
b) 1250 b) 10

3 a)24 13 a)2000
b) 35 b) 3 600

4 a)80 14 a) 4200
b) 42 b) 18 000

5 a)240 15 a) 60
b) 1500 b) 720

6 a)400 16 a) 100
b) 2 400 b) 20

7 a)8
b) 4

8 a)l0
b) 4

9 a)2100
b) 16 000

10 a) 5400
b) 12 000
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